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Put a possessive apostrophe at the correct place in the sentences 
given below.

 The girls’ coats hung neatly on the pegs.

 The boy’s colourful bag was very weighty.

 The court order required both parents’ consensus.

 Ben’s new car drives smoothly.

Write one sentence for a plural possessive apostrophe.
Answers may vary.
E.g.
Rosie’s dress was as beautiful as a flower.

1. 468801 – 115349 = 353452

2. 751 x 2 = 1502

3. 0.04 = 
ସ

ଵ଴଴

4. 3800 ÷ 10 = 380

5. 5.8 + 1.33= 7.13

Learn meaning, write synonym and make a sentence of each given word.
 opportunity
 mourning
 depression

1. Find the area of the following shape:

2. What is the area of the triangle given below?

3. Ben and holly went to watch a live bird show at 16:18. The show 
lasted 1 hours and 27 minutes. What time did they leave the show? 
Give your answer in the 12 hour clock. 
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